SulAftheZe Wt 2717k 2L AbekeEolnt,
® AfthelBoleh 2 7o) Lent 917 gk,




th& 7189 gABCD = AD //BC¢l SH#Atcte] &Zo|tt, A A, D
oA BCol £&+4& Wy wivte M-S ZtZHE, Fatal gfgt. AD =
10, BC = 18¥ uff, CF ] Zo]=?

_-10-.

D
[ []
B<E .- C
~-.1g--
D1 @ 2 @4 @ 6 ® 8

AABE = ADCF = RHA §H50|t}.
we2tA BE = CFO|2& EC = (18 — 10) + 2 = 4°]t}.




3. o 193 Zo] AD//BC<l THAITH]E ABCD 7} )tk AD =
6, CE =2, /ZABC =70°¥ o, x, y2] Zt2?

--6-<_
73
70°
pQ B30
eyt
® x=15° y=12 @ x=20°y=38
® x=30°y=8 @ x=30°y=10

@x:20°, y=10
B ‘

/B+ /D =180°°|2&

(D =180°-70° = 110°°]t}.

" /x=110°-90°=20°

A AdA BC W& 40 2 Het ohi

o--6-<_
A
N0 1,2\~
P EC
—y_--

AABH = ADCE= RHA &50]22 BH = EC o]t}
L BC=2+6+2=10




® 20° @ 25° @ 30° @ 40° ®)45°

B

AE = BF = CG = DH?]|2 & EH = EF = FG = GHo|t}.
T3t /AEH = (EFB, /AHE = /BEF©°|2 = (EFG = 90°
o|t}.,

et oEFGH & AR olAL, 1x = 45° 0|,




60

= 7o) 37]7} 2},

"_

wsiet,

o]

G

o o

nmo
Tod

)

B

<)

Tt
= W o] Zo|7t A= g},

o] 22717} 90° o]},
6]-1—1_— %94 23_10]7]' /\'1§ Zz]'ﬂ]’]' EH ¥

e

R

o]

T

ATy
=

]_

[y

ol o R
fife)

%0 oK T oK

/) — ) =

o o ol o

CASACNG)




@ Y 8] o)t 1

—

s

g

747}

® % o] fuol
@ 7o) 2717t 2%




7.

th& 1HolA oABCD = B 3APH o] 2AB
FD =DC = CE¥ 1, 0ABGH 2] Ed9] Zol&

F

A H,%D
Dl(
)
|
B G\%C

E

D 10 @12 ® 14 @ 16

® 18

~&B

AB =CD = DF

¢ABH = /HFD(%7})

/BAH = /HDF(%lZ})o]lB2

AABH = ADFH (ASA %5)

wHebA] AH = HD = 3]t}

u7k2]| 2 AABG = AECG oA BG = 30|22
DABGH = PSR o[t}

wepA] EH ] doji= 3 x4 = 120|t},




Nfo
m_ )
oS
r —_—
- : :
= T80 &
‘m.A :._ =+ HHIﬂH D .Iﬁ_/l
|A —
= %0 m
Ty 7
0 Le)
iy N
T ol o0 B
Ry 58 -« B £ . . i
oK . T=p U Jo Mﬂ oy HH B o
) ok 0 s . X e X B
o M o 0 oor N s N 7
5 Ol o r AT L Y o of
= = =z oy WX N By
i el Kl T OROSOR OO NN
o 75 o T o Bom XN
‘_a o = [~3o) o 2 0
ok T S | ) NI
el =3 BN o N e
oy ™ T ook T K B
s T O o % o
ﬂ_ mw roJ oUW om
ojn
R o e @ e ©




,_0.._
il
Ho

oju
™
)

ol

HAGEE D 9, O

OB

oF

1Q,0,0

@ A7

210,606,

=
=]

9,6,

® A2

:

o B T RO

CACACNG)




olt.

-

=

BlARH]

=

oy
ﬂ_mo




_--8cm.
Ar—H =
\\
\
E Geem
///
B F v
® EH//FG
@ EF = 5cm

® At EFGH 9] &89 4ol 20cm ©]t.
@/\]-7_]"53 EFGH 9] Wolt 25cm? o]t}
©® AHZt4 EFGH & whgxolt,

A}7ke] EFGH ©] ol A7+ ABCD oll4 A2|e] 47k o)

(6><8)—4><(%><4><3) = 48 — 24 = 24(cm?)




12. & 199 nABCDE AD //BCSl SH¥Atte]&Zo|t). AB = AD,
(DCB =70°¢Y d, /x2 A7]&?

A

@® 25° @ 30° 3)35° @ 40° ® 45°

€5 ~
DABCD 7} SHAtC e Eoln2
/ABC = /DCB = 70°
/ABC + /BAD = 180° 0| B2
/BAD = 110°°]1, AABD 7} o| 5 ¥4z o) B2
LABD = 35°0]|t}.
. /DBC =70°-35°=35°




13. A& ABCDOIA AD = 6em, BC = 8Scmo|tt. AD 9] 9%
ol A FE HL o, A& BF 7} 0ABCD 9] Y o]& o] 583t}
o, DF 9] Zo|& +otofzt,

/,6an~\\D

A F
G
B&- —IC
“~-8cm--"~
@ 11(():m @Zcm ©) gcm
@ 7Cm @ 7(?111

2

DABCD 9] E°l& het T o,
DABCD:(8+6)><hX%:7h
AGBC 9] Eol& molt & o,
AGBC:%XSXm=4m

1 7
4m—§x7h,m—§h,m.h—7.8

DF:BC=1:70|2&
DF:8=1:7 DF = - (cm)




© ArieE
@ g

@ SRAGEE

® A2

~&B

AAFD = ACHB
AAEB = ACGD
(HEF = /EFG

BH//FD




i

2

Hojrt.

=
=

o] Hl= e AAZ, HAH2H, ot

b

‘ BPA




